RD SHARMA
Solutions
Class 8 Maths

Chapter 1
Ex /.5



Q-1. Multiply:

@ 15 by

Hlu

(i) 3 by
(iii) o by =
@) 5 by =
) = by ¢
i) - by =+

(vii) == by =

(viii) ‘1—‘15 by 7

Solution:
7 5 _ 7x5 _ 35
_— X T e—_ =
O T 7 " @
L5 o3 53 _ -ls
(i) 5 X = T4 8
L2 5 _ —2x5 _ —10
_— X = _
(i) 5 I 0 59
3 -5 _ 3x=5 _ |5 _
—_—X e T e, = e =
W) % = 7—4 68
9 36 9:36 324
_— X — T —_—
M == T == 77
-1l =21 _ —11x=21 _ 33
_— X T — =
(Vi) 7 57 g
3 4 3x—d 12
— >< — T — e —
(vii) 5 7 57 35
. 15 ~15<7 _ -105
— X = = __-
viii) o= = 7 T T

Q-2. Multiply:
SL

M 75 by =5

G 7 by =

15

—68



(iii) 55 by —
. 6 —49
(v) 7 by —

™ = by =

i) 5 by &

Solution:

) % SL= 51
17 —60 17x-60 4

o =6 _ =55 _ —6x=55 _ 5
— X — T — —
(i) 5 36 1136 6
. -8 -5 _ —8x-5 1
_— X T e =
(i) w5 * 43 2516 10
L6 49 _ 6x—49 _ -7
_— — T c— T e—
(iv) 7 % =55 7336 [3
8 —7 8x—7 -7
— X — | c— " —
M=%~ =1 I
-8 3 83 _ -1
Vi) — X = = 22 = __
Mg " 5a =

Q-3. Simplify each of the following and express the result as a rational number in standard form:

.. —16 14
— X —
Uy 5
R
- X ——
(i) 5 * =5

(iii) 5o * 16

-3, 27
X —_—
) =5 =6

-9 —64
—_— X —
W15 =

. =50 14
— X =
i) =% % %

—81

—11
o 1L 81
(vii) 5 53

72

]
— X —
(viii) ) s



Solution:

Z16 1 2222 2x7 _ 32
Uy 5 337 5 15
L7 3 7 -3 -1
_ X T e X e = e
(i) 5% 5~ 535 % 727 8
L —19 -19 76
— X = e X X X X =
(iii) == X 16 = 55— X2 x2x2x2 5
L -13 27 _ 13 . 333 _ 3
X e = X —
(V) =5 26 33 x13 2
-9 —64 _ -9 _ —4x16 _ —4
_—Xe— T e X —_—_—_— T —
M > "% = 3
=50 14 _ =50 _ 2x7 _ —100
—_— X = X =
V) = 3 7 3 3
Lo-11 L -81 _ —11 _ —-9x9 -9
_— X T e X &=
(vii) —5 T S =} g
N ) -5 8x9 8
—_— X = X = 2
(i) 5= X = T 53 X =5 T 3

Q-4. Simplify:
W (F* - x50
(i) (3 % 3)+ (5 % 6)

(iii) (=5 % 2)— (=6 x 2)

ol

W) (F* D+ (E = 3)

@ (52 H(
o) (2 H-(F x4

wil) (£ % 35 —(5- % 2)

wiih) (8 < )+ (3 < 5)

Solution:

(5 H-(5 75



4 3
_ 5x3+2x4 23
12 12

(i) (5% 7) (3 6)

_ 1

_8+3

_ 143x8 _ 25
g 3

(i) (=5 % F)— (=6 x 3)

e
3 3
_ 2+ 2
T3 73

W) (7 +(5 x 3

—3x5 + 135
4 12

—15 65

4 ”
—15x3+65

W (5 B+ (5 3)

44

_ L3

o) (5% $)=(5 x5

_ 138 —5¢11

B 6

_ 104 55
T 76

_104x2+55%5 483
- 30 30

. 13 11 —4 5
(vii) (= % 5¢)—(5-* %)
1l -2

Tx2 3%3
_u_ -0

14 9

_ _11x9+10x14 _ 239
126

—|
f=l

i) (§ < 22) + (T3 % 75)

4%(=3) —3x11
5 10<16

-12 |, -33
73 + 160



_ —12x32-33 _ 417

160 160

Q-5. Simplify:

W] &~
~

W (53X g TG D=5~

i) (5% D=5 x F)+(G*3)

(i) (5% )+ (X (G 5)

L35 9 . 4 5 6
(lV)(f—l x g)—(ﬁ x g)""(ﬁ X5

Solution:

DG DTG D-(F73)

+

N
ml&

|
cxl;

_ _1x3+35x2-13%6
12

3+70-26 47

12 1

@4 =(FxF)+H(Ex2)

S W A

14 21 14

_ 1x3+5%x2+27%3
21

() (5 % S5+ (32 D)+ (37 5)

—13x5 7x8 + 3
6 15 10

_ 765 56 3

G + 15 * 10

_ —65x5+56x2+3x3
- 30
-204 34

30 5

3 5. .9 4 5 .6
W) (sT*2)-(F*x3)+(F % %)
=3 1+2
2 13

_5x13-286+2x22
- 286

_ 65-286+44 _ —177
286 286



